Math 120 Practice Problems Ch 11
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Determine the domain: f(x) = 3(z—6)?—4
z2—

4
z+2

Determine the domain: f(x) =

Determine the domain: f(x) = v/3z + 2

For the following functions, determine a sim-
plified formula for f+g, f —g, fg, 5, fog,
and go f: f(z) =4z +5, g(x) =z + 3.

For the following functions, determine a sim-
plified formula for f+g, f—g, fg, 5, fog,
and go f: f(x)=22-9, g(z) =2+ 3.

For the following functions, determine a sim-

plified formula for f+g, f—g, fg, 5, fog,

and go f: f(z) = z_£27 g(z) = 12174'

Determine a formula for the inverse:

flz)=3x+1

Determine a formula for the inverse:

fla) =27

Determine a formula for the inverse:

flx)=2%-5

Determine a formula for the inverse:

flz)=v2x—-3+1

Determine a formula for the inverse:
f(z) =logyz +1

Determine a formula for the inverse:

flw) = 36

Determine a formula for the inverse:
_ 12z
f(@) =175

Solve algebraically:

23 — 25:c+7

Solve algebraically: 4°*~1 = g3¢+2

Solve algebraically: 57% = 125
. 3x—2
Solve algebraically: %= = &

Solve: log, 8 =«

Solve: log% 8=z

Solve: logysz = 3
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Solve: log, z = —2

Solve. Round to the nearest hundredth:
r =log(Inl1.7

Solve. Round to the nearest hundredth:
Inx =4.24

Solve. Round to the nearest hundredth:
logx = —0.28

Solve. Round to the nearest hundredth:
x =logs 7

Solve. Round to the nearest hundredth:
x = logs 10

Solve. Round to the nearest hundredth:
x =log, 5



